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1, Which of the foilorn'ing staternents is correct: 
Coi(,riirectly over *"%='€+

,y a) When Smelling a Substance you can hold yo:: face directly over qqk
1 "' 

,r"," uo.rt.' +rul: Pore 
accurate volumes than a 

"q,$&*
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-3 Given the follorvrng set of data: 
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4. 15.0 ml of sulfuric acid (Hzsoa) solution was tihated wrth 2i.0 ral of

0.10 M NaOH solution to produce NazSO+. Calculate the concertia:io:i of

sulfuric acid in glL of solution' (Molar mass of H2SO4 (5C 3 ncl)

^\<.44) J.''r b) 6.s c) 7 .4 d) 9.2

Lr$*\{ t \-\2:aq 
-IL\ 

Lc, + V't2 5e'7
n-.L''

e) 8.2?

c) 6.4 X 10 -16
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5. A i0.0 m1 sample of a bleach solution was diluted to 250' ral u'i=
distilled water. 20.0 ml of the ciilute soiution was treated with excess Kl
and HCl; the iodine liberated was titrated with 7'55 ml of 0'20 M

Na2S2O3 solution. If the density of the original bleach solution was 1.1

g/ml,-calculate the mass percent of NaCiO (molar mass:74.5 g/mol) in

the original bleach solution.

a) 9.3 F) z.: c) 8.a

4-.dF

d) 6.4 e) 4.5

AvoEadro's Number

6. Given the follolving set of data:

Mass of stearic acid used : 5.0 X 10 -' g (molar mass :284 g/mo1)

Area of monomolecular layer:75'0 cm 2

Avogadro's number: 6.0 X i0 23 molecule/mol'

Calculate the area occupied by one molecule (t*')'

7lt.l x lo-16
d) 5.5 X 10 -'"

b) 8.6 X 10 -16

e) 4.7 X 10 -16
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Molecular Weight oi \i olatile

1. Civen the foilou'ing set of ciata:

Mass of volatile liquid: 1.15 g

Volume of the flask : 200 mL
Atmospheric Pressure: J37 mmHg

A iu
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The teilperature of boiling water :97 oC

Calculate the rnolar mass (g/moi) of the

a) 192 b) 180 c)185 d) 176 e) 160

Thermochemistry

9. A sample of 0.552 g of metal x (nrolar mass : 1i3 gAnol) was

reacted with i 50 mL Lf t.O M HCI in a stvrofoam cup (heat capaciry

: 0 ). The temperalure of solution increased by 7.92 oC' Calculate

AH for the reaction. (Assume the specific heat of the solution : 4' 1 8

J.g-'.nC-', densiry of solution:1.00 g/ml,)

c) -9fl kJ/moi x
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E>8. Whicli of the foliorving cases increases the calculated value of
molar mass of a vola'uile liquid:

./ a) Recording the pressure of one atmosphere instead oflthe actual

extemal pressure in your laboratory'
/t b) Recording the mass of empty flask higher than the actuai value'

z,i WHen the mass of the flas[ and condensed vapor is measured the
- 

flask was not comPleteiY dry.

d) using a 50 mL flask instead of 150 mL in the experiment'

1 e) The reported temperature is 5 
oc 

lorryer than actual one. (-.
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a) - 860 l<J/mol x
d) -1020 kJ/mol x

b)- 9i4 kJ/molx
e) -1086 kJimol x
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Mgr.l + 2HC\,4 ) MgCi2('d* HzG)

MgCir,t+ 2HCi1u4 ) MgClau6*H2Os1

HzOOI ) Hze) + Yz ANgl

Calculate AHr for MgO in kJ/moi'

a) -505 b) -376 c) -32i

11.Whena1.0gofmaterialX(molarmaSS:40g/moi)wasdissolvec
in beaker containing 50'0 g of 1'0 M HC1' the rise in tempera;::e

was 7.0 "c. If the AH for this reaction is -74.8 kJ/mo1 0f material X-

and the specific heat of the solution : 4.10 J/g.oC, calculate the l-iea:

capacity otti-r" beaker (J/'C)'

a) 66

Collegative ProP erties

12. Which of the foilowing statement's is correct:

b)
c)

^\oot) /-.-/

a; if tne thermorneter used reads 1.0 
oC iolver than actual, then the

calculated molar mass would be lower than actual'

e) The greater the mole fraction of the solttte, the lower the freezing

point of the solution.

13. ' A solution made by dissolvir:g 10.25 g n4phthalene (c16FTs, non-

electroiyte, molar mass: i28'0 g/mol) into 200'0-g-benzene (molar

mass :78.0 g/mcl, freezing point of benzene : 5'5 oC' Ki: 65'6

"C;. What is-the frepzing polnt of rhis solution (in "C )?

.10. Given that:
AIl: -215 kJ/mol

AH: -155 kJ/mol

AH: 286 kJ/mol

d) -401 e) -345
-,*e'---
[-l' ,*,J '- 'i
1

J*S J
.-d--'

a)Ifthereported.nrassofcyclohexaneisgreaterthantheactual
value.

b) s8 c)74

b)40

d) 47 e) 40

Ks is dependent on the solute onlY'

lf the soiute used was not dissolved completely, the freezing

point depression will be larger than actual' . ,,
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14. For ia,hich of tl're follora,ing aqueous solutions would one expect to

have the largesi Van't Hoff, i, factor?

a) 0.i00 M NaCl
b) 0, i 00 M AlG.lO3)3

c) 0.100 M A12(SO4)3

d) 0.100 M Kzso+
e) 0.100 M CH3COOH

I ^., .1-
I

- r!
rL:.l - &J!:lt AroLdr r ,ir I

l]*_l

15. A solution of 1.22 g of benzoic acid (molar mass :
78 g of benzene ( molar mass : 78.0 g/mol) shows

depression of 0.45 'C. If the Ki of benzene: 65.6
Van't Hoff factor (i) for benzoic acid in benzene.

a) 0.62 b) 0.49 c) 0.59 d) 0.69

122.0 g/mol) in
a freezing point
oC, calculate the

e) a.77

Equilibrium and Ki! htp =;r-l-l3rrrc' ] f " S )

16. 17.0 mL of a sahrated solution of CH3COOAg was titrated rvith
i5.3 mL of 0.040 M KSCN in acidic solution and in presence of Fe3*

as indicator. Calculate K"o for CHICOQAg.

c) 2.8x10-3a) 1.5x10-3
d) 2.2x10-3

b) 1.3xi0r
e) 1 .8xi 0-3

'^
I *,* r,.u+li r .,F
I tr,.,..,' * .
i ' : ,$ lttir -Ll.ri' ".'og1tt 

r'1!i

. 1 '.ur.rj*Ii

L7. A 15.0 mL of 0.0320 M KSCN s'olution u,as needed to titrate a

certain volume of saturated CH3COOAg. Calculate the volume of
silver acetate (mL) that was titraled. (K,o for CH3COOA52.30x10-3)

c) 10.0

{
d) 12.1

I

| .J-,i

,/- --
G

t

a) 15.0 b) 20.0 e) 17,i
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General

l. Which of the following statements is true:

a) The uncertainty in the measurement 3.64 is + 0.2.

b) It is acceptable to insert your dropper into the reagent bottle.

c) Throwing excess organic solvent down the sink is acceptable.

d) It is acceptable to retum unused chemicals to the reagent bottle.

flHratinS flammable materials.with a direct flame is not acceptable.
',r.'l;937

t|-.-"-- 't : d.

stoichiometrv 
' 2;5 -#- '"fr4 \rfr
4 

'qvrE

.&
(s))1.61 g d\2.28 s e) 1.19 g

2. A sample af 2.96 g of KA(SOah.lzHzO (Molar mass =474 g/mol) was heated to
evaporate all of the water (Molar mass:l8 g/mol). The mass ofthe anhydrous
salt is:

a) 0.99 g b) 1.73 g
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O ,eaL{q
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b)2 c)6

ln- ll(iJ

' V-" 'i:-- tb<t:,
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Wt

e . e<, €rz,ff 2 'otQ'

3. A 100.0 g sample of a certain solvated satt ( Salt.xCzHsOH) where the solvent is
ethanol (C2H5OH). Upon heating all of the ethanol was driven offand the mass is

reduced by 42Yo,what is the value of x?(Molar mass of dry salt:322 g/mol;rnolar

mass of ethanol:46 g/mol)
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Volumetric Analvsis

4. Given the following set of data:

Volume of vinegar solution: 15.0 mL.

r( lr\ )

c) 12.0 g d) 21.0 g e) 24 g

\

The volume of 0.15 M NaoH needed for the titation of vinegar solution : 30.
mL. calculate the mass of acetic acid (in gram) in 1.0 L vinelar solution (Molar
mass of of acetic acid:60.0 g/mol ): .r

@tl ga)15g

= I.A* -J\Jr*-s-.

4:lnr!
,N\

. a) 0.525 s b) 0.325 g c) 0.42Og.' @ o.olo s e) 0.735 s

\J ^\A<<_- a \ He\. ---> FJ^(L ;@I \o-co.

. . : ',.,.
6. Given the following set of data: -:. '.

Mass of antacid: 0.80 g.
Volume of 0.15 M ofHCl added:50.0.rnl..
volirme of 0.15 M NaoH needed for back titration of excess acid :15.0 mL.
calculate the number of moles of HCI neutralized by 1.00 g antacid.

^,
a) 7.5 Xr0" Q)6.s xtor c) 4.25 X10-3 d) 8.75 X10-3 e) 5.83 X10-3

["d*\ = tS, --o,r5 M,5o.o,..,il- =J.4*rql'\(\o-' *.L

1a 1t-.kcr., -

\\CL

,Vr( r

ea- ^J---$_- s S ,ucL
o.\3 \..r'-'\5<163 = 2' z{vlii

-lt Gz; / (o "-* 
FLtt)

?r\c\ t Oii"\\)e 
r$?'

t . lo gZmf) that can be

0. ( s o 3

'l *--\-d,,2-J = | .24 'o,J l

7- Calculate the mass of {omach acid (0.I0 M HCl, density:
neutralized by 0.600 g AI(OFD3 (Molar mass = 7S.0 g/molj.

a) 169 B b) 338 g c)2r2g . d) 190 g
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c) 0.251 M d) 0.s88 M e) 0.081 M
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Oxidation-reduction Titration :

8. choose the correct statement ( for the experiment performed in the Iaboratory ):

a- Laundry b_leach contains a reducing agent.
b- CIO- forms a blue complex with starch.

S Iodineactedasanoxidizingagent. 1-*d- Sodium hypochlorite was delivered from the buret.
e- Iodide acted as an oxidizing agent

9. A 9.00 ml of a sodium hypochlorite ( Naclo ) solution required 6.4 ml of 0.310 M
Nazszo: to complete the reaction according to the following unbalanced
equation:

clo- +ro3''---, ct- + gogu'z

calculate the concenfration of sodium hypochlorite ( Naclo ) solution.

@ o.rro b) o.1l7M

Avoqadro's Number:

4/tCr,Given the following set of data:

) ' Mass of stearic acid = 9.8 xl0{ gm.' Molar mass of stearic acid= ZS+'g/iol.
Density of solid stearic acid acid:0.g50 gm/ml.
Area ofthe monomolecular layer formed by stearic acid = 100.0 cm2,(t = 5.44 a).
Calculate Avogadro,s number ( molecules/mol).

a) 4.6x t02a b) I.5 x l02a c)9.zxr02a @.+*to,o e)2,9xr02a

rr^,u lriJ
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Detailed Answers For The (MdExam) of (Experimental General Chemistry)
Date of Exam: lt / 11 i200\ Dn^^.rLaelr. ll I tLi ZVV-1. Do^o ,rr45uJ..

-

Imp*lanl Nole:
The exams rbbioh urc soltaa,q,€ solu€d bJ +k sfudaols j $,

ony solrlion exc$ ro +1" srg3esled de*oited onr,rr*'n lh;scop5.

Af'rl rnro*\lic#ir.'l^]ttI Ge)) 4*,an*.ll -4L.-.-r, ,

-\W;; C. V;+ te 3;->; f , r-J te, 

-f J-., r;
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Grr.rernll

Ques{ion No6},
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*lv- rca1enl bollle'

- Slolarnenl c is in curecl , becaw gou qvl. nol allowed lo lhruryh e( cess or3onv sol,rer,f

doutn lhrsinle due to liz cr.erltub;liU ;, uc.[er.

'Elalemenl'd 6 tn16,rred r becaw lbsnol allowd *o r-elurn unused cl,,a.,71iag;ls h lhi.,

r€agenl ixlllle dw lo conlanirslion ol tl*sl"d' bo+tk'

pleax, t L7note

cjt}^lt 
'if

Stotchi omelry i
Guegbn NJo. B,
,Were 1,iw*t2 u,eighld- oturn/H$,o,sg1l[= 2,Q6X , urighlJanhydra^5

Sl.*legyl

S.tll " .^ll-

= 2.a62a{anyWffi ,, t:yl#!fu .@.@;;^D;;Atr 
@:e#d,b,6=Ee

= l.dl X ol onhydror^5 =oll-},* choictfi

0799888058

*il=??
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Detailed Ansu,ers For The (Mid Exam) Of (Experirnental General Chemistry)
Date of Exam: r I ri 1 2ggr. Page2 .

Oueslb', No.E B 

-
Soll.xCzHsOH o , S't+ *x CzHsoH

l*i +irJ^ro e tll,^el \ \2'/,

+ r^)z an concr.t)de +lvl{her',ass "l sol} lecame = loo.o -qz.O = S8.o5.

$ no. J 
^ates 

J d;l[d sall = h148S / motarmass J dry*ll( s"ll )

= s8.09/ 32lgzrol-t = o48O mol dr5 *ll'
$ no.J rnoles J CrHsoH= r ass/ mobrrnassol C11-lsOt1

= +zX / 4 69 motj = o'88 nol CzHsoH'

f = rnoles 6[ caHsorr/^"L J d'J *il = o'28^otfo'1| mol =.i",rr6

Uotu*rrnrc Arntys'S,
Oueslion No. [} t V)e knor^r *lo} +t'o acAic add (conpxorl J oinsgar) req.ck unlh

sod ium H5drox ide acrcrdinx lo flwfic/llouti n3 e4uaL)on t

CftCooH aq) + Na oH.or, 
------) 

CH3 CooNq .oq) t HzOsl

$ No.J 
^ales 

J NaOH = Molarily6rqoH)K Uolqn e( NaoH)

= o.tsmol * go.#*Y;=7.sxlo-smol Na0H'-'V '\ tWffi
From i}',g batqnced chemid 'quol-tn ' 

w€ &8';

Uo.J nnotes a[ NaOH = No' Jmdles Cl-t3tooH

+ No, of 66leS J UrCooH - 5fl6lanl5 e.nnc6olr) 
( UoLu^e(rqcootl)

4,5 X(o{ mol = Molan\ Ccu3cooH) X t, o ,v'(X 
fu

Nolar;! (cuicoog) = /t,€ x (o 
3^ol 

/ ,,'o x to-sL

= o.3O ^ollL.
,=o.3O mol , 6o?l+1ty =n2lt-t L ,trnol CFtrcooFl

lYtolar nats

t'i r' Ac

--*" 
,

\F
07953A9753 0799888058 :ajeCr ;1tt)rL-ir-,)tJ

Choice6



Detailed 

HHi #HT,IX l#f;] 
of (rtrxperirnentar Gen era-

page 3 .
I
I

Queslion No'B S

NaHCO3 + t{Cf NaCl

We can see |l.ul acord\n1}o lt blanced En,3

No. of molas of NoHco3 = No. ol r,,olu ol

fiqssol NqHC0. _

+ H2@3
L *o+62

HCt

Molonf Cuclx Volrrno Lua)

o.30 rddHc/12s.o ffix Lakt@

rnolqr mats

8q.o alM
=) mas (ru0 Hro3) =%

Oresli* xlo-@--

rnqss cNaHCo3) =

anfiea'd
7\(gi,^la r,nass)

(MHa 1 g Hcr) = rnales oc Hct rcacled
t^rith Eecific ^ass 

ol
ar,tkad,

+ I-r. ,s rnol HCI

Lt r

^3?.s x{o mol HC, = rnotos of-Hct 
"eactred

o.63g. chotcc fr

%ld No.ol mdes -_ rnolcs ol Ua
of Hcl addqd reackd urith f

cr,rutlr specilr'c rnass o t avtacid

rnoles ol Hcl neacled u|*h o .8, ar*acfd = ?.s X (ds.nol - L.2s- xto fl01

= S.25 1 1j3rol
o'E 3 ---, S.2t X {is^at
f.afl------__) X

=+ X = 6.S xtd3*oltHcl neulrolizedbS t.oog anlatid +,ch^,ce.E)

5o.a/tL - A-.)= nrotes o[ Hc/ ,<crclel ,'Y fl,tr:jiciass 
+ / o.rrmotNfH * F.ory&x

L )E \"6

moles & uct HlnJ"d
Ue*trs NaOl-l (h b"&

* (M Nao;1 x Uu"ou)

u 
13:"r;- Hcr -rNao+r-h,

lmd' lmol.

+ 2.21x tf mot Ha

0795309753 07998880s8 :.ir-yn:Jt ,JJSsS lt ,t-.r)U



:==!==!=!Detaired 

t":..;iililr: :lf ?m; 
or (Experimenrar Gener.ar chemisrry)Date of'Exam: l ,t tz l20Oq. Page{ .

G"ntfror X,

3HCl + Al(oH)s 

-> 
AlOs +3HzO

: O o[o',
{

2S2o;' -------) SrO;
2 S: Os- 

----+ 
S. Oe

2 3z Og-'----+ S, Or
2 S, Os'--* S, Oe

No'4 rndes of Al (o-r)r - rnaES of A @u), /halarrnasS oa Arcoi-r)j

o,6erog Al{+r)r/ ?B.o grnol-r

1.6q x(o-3^ol Al (ou). .

3 mol Ho
a64r It rnol Al(oHb = o.o23l nol HCl.

1. 6q xro mol AICoH), 1

=) rnole HA = Molarl\ CHcr) x \)otuvytoCxcr)

o'023t mol = o'lo{1 x uolume cHo) $ Uor ume = o.23r L
usiny llwdensilX , we ,onC;nd,

o .231Y Y tooo# * l'lo 3

tW = 253 g 4 choice @tE

.Y::f P : !**\, becar.6e kun/"y bteryh can{irins an oxiliziry 
%u,t,.J *J'

Y*: I ! r...rwc!> becq.lp tro,,irr- %,n obtue umdur/ifl4 dqrch.

:::::T H : 
,,*uu, 

,, lcaus? 
r: acted as an oxidizirX onnt.

-Slaleynenl- @ Cs tnrv,*ecl r becc6e S,oJ,SrOs' rrres deli vered L.omtlnobura{.j

-3r-a'rerrnsnf E} rs wco*eel,becaqse r- acredas a veducrnq 
^ou;ntl-.So - ll^o (.vC.t,.a,s r'< rL^:.a G1 - -J -Jv 'i5o, l'hoallsruer cs c,hoice @ ,

&*tlrJeJ[r,b]frmn,

Quafion No.E;
F-irsl oP dl we ltav,q. to

r.:.,alior:

clo- __> cl

CIO -------> ct- + Hzo

2H++ Cld 
--4 

Ct-+ HzO , H a{arn

2Fl++ CIO-+ 2A ------+ CI- + H2Q : d
Add tt-uo Halp * Readilons lo eorA oll,,u ,

Ct + HzO + Sq O.-2
9H++c161 2izoi2

fuhnce lhrqual,'cn a<oriling h tfu. oxida.lion r.dwlkn

07es30e7s3 0TeeBBB05B-;;fir,__n

-2
: ahms e*cep|

-z OrH

, O o{orn

,d



Detailecr Answers r or The (Mid Erarn) or (trxperirientai
Date of Exam: rt / t1 / 200q.

General Chemistny)
Page S .

NOr...r, utQ. Can ig.r*rtlue Our

Molc of Sro:-2 = fvlolq"ilJ (szos-) ri)olu* n(sror-,)
Malas o[ SIOJ- = o.3lO rnol K 6.4 tnl x lL

l looo;fL-
-?

Y lo' mol= 2.o
.?

2,o xt0'mol SrOs-rr I mol 0O^ -2
= l. O X tO 'p761 ClA2 r*ol S7O3'>

.Moles ol Cl6 
= M o la"i! (c lo) x U otume Gto)

f 'o X l0 i.,ol = Molanl$ x q,oo mL x tL
nlr,...'L. . t lWml-

i Yt\^o.no notlL - *o,r"'W

expninonl-.
- TW uctlq)fle dh,.ch tha solrcl slea.ic acid occupies = rnooor^,* ,;c / dens,b J sotidacid

sleai;c o.td.

frvo1adro's N umbw i
Kenember *lu prooedu rp. ot lte

- The *h ickness G) d

O = t _\s.qq _+

tI-4 qrqq ol ore

No. oC r,nolecuk

= 9.2 x,o-' g / o.asog lar__

= 1.2 x to 
- s- 

L (cns)

t=s'{{q 
ffi^'mono md€cu lor layer = ualume / or*ool ,r,ono ,afftoxr.

o =,, *,0 1, 
=,,' ::t;;'/,o'o.*' 

= t 2 i,o't*
s.47

molecult =ez =Q.tv,oor*;z = 4.gxrc-tln2

- No. ol ,.r,oles

- A uogedro/s

pre*enl = russ ol skanrc oUd/nolqrrnaEs ol aLear;< acf d
= 9.8 x,o^6g / ztqSrnol:t 

= 3.s x-to-B
No' = No'oC r^olect^lee / fuo,ol^olcs 

= 2,1 xtott/s , , ,o* :
4795309753 07gg88805g *_rr, dtss.r,*,i*-,)U

6.4 tr to'1 ctoice
@
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Eets,led Arcswers For The (Fimat Exawe) of(Y,::ltntal g=:r:l gfemistry) { i 06_ 107 _1 08- 1 0e}.Date of Exam: I 20as.tst1

{-ole.l no. d nules
& Hcl addel to

diswlt,e *hc.lrqbl4

tYlr+q X V*q

ntoks ol Hct
r<qcled aclwll,
*i,H, *rl-ortd 

u

acluall ui,Ht qntq4d

rnto te s ,A Hc)

+ ,gr1-"4 ,*r:h\
lr.te-o,y fululio>.,.

Page (r)

R-.rner"br,r l+ol
IYlolarily = moles

votur&)

$ nto/es ol HO rzackd Ernce Nq

orA*lb u;,.1* a*tid = Mr-ra x UHcl - (Mrnory x ,r.r,r')

= O.lSrnol .. =v rJ1,Lt,r X f*6'0rnl X I L _ 0.l6mOl.X lOrnl,l
- looomL ,

= 4.3 x t0" ntol Hc) pr o.so X lqbl4
=v/-wtso.---,,.,x rd3 mot ps1 ps. t g f:AW + .bi.. tr .

1*ykgsrlofl No, 4 ;

: {:^::'rwrik @chp*nica) e4ua\'on repNswk theop Hr'dq <qq) "^aEdr. i,*o'*'l*iilrr,'ir"l*t* 
ru

u*o., = ,, orl"'.' ,':,'r'lqoH 
ca1) -'---) Nqr soi{a11r Hece)

' vNo-oH 
= 2S.Onrl , MNqoF/= o.t0M.

IL

r<coLi"n

2r .o pL A/coH x tE 1rt661q-tgoH- y o.toml*pffi, | ,,ol Hz&qt/\t$*t/ r,-^r , : l.2Sxtd3nooj HzS09lg3o91+:-hJ4ot_/ E
M Hzsoq = rnoles HzSotr f uferso/ Sotd,or, _ l,f sXtol',nol Hzg,, /rts.o rnL x I L \', t'\ fficl

= O,oE3

O.aZ3 Rol-r+rsOt ( ,98'ogHa&r,-

rytl4o.'
L

I t chote.flx'2 
3

Gueslion No. 3 !

+ M.ruaoH x UpooH

Since NqOFI+ HCl -> f,ta Ct + H ?n
I md; lrnal,

.Ve, lAAA.sA

s 4J)t g,tr
(r) 'v4Lt

:rl4r



Betsiled Amswers For The (Firuat Exam) Of
(Experimental General Chemistry) { 105- 107 -108- 109}.

Date of Exam: 15 I I 12005. Page (r)

(eenor.c"lf

Gr*- i./o, 1 ,s---\-ry

Sldmeni e is inrorrecl ,bec4lgilbno{a/lo*rd *o holdgoqr &^ce direcllyoy€r

*he hefffE dhen srnel/ir5The .;ctfflE oJhen smelh'r7 a suklqnce .(Look gou. 
^oruo))slale'mtenl b is incorr€c[, il! kro*, rhoL uorume*r,.cArqsksr b.r*]5andp,p4s ar^e

*he rnosl qccurak g/cssurcre us<d in Lrr&ruhrg.
swemcntc s coyr<'cl t bcc.'r4'e eng Lab.g conlqdn pos/trs abouf Hqzoro*us

chemicajs and ame ehemtcaJs uxd in Lab h gcnc*l.
Slakmcnl d cs incorrec| , bccausc iI you spal/ concenlnfedsulAunt qcid on your.<lo[hu 

t yot mr.{sr aash '+ ,ri*h wakr , rhen neur-.^loa.rL

.rr* Htr bqae NoI CouceurRRTED Or,rE,Socliurrr
hgd.oxiJi'"0,u*on 1's s*rong bqse also.

Slqlz,nrenle cs 'thcarr€J 
r becquro goua r€ ndl_ allow*ll_o inser!
or droTper'cnlo a.n1 r<^Sen| b;llte due lo
a[ alack reagenl- bo]Ile .

SLi661', iamel-ert1t

-

Qu<sfio,, No.2 l
,rlc{ss d hyd."kJ sult = t.2G g , rrres5 of *ale. - o'S2 g r

lfloler mqss d anhydttus oal| =2r8gmol{r rno'lqrr.r,qss I urqlrr =lTXrrv,l-l,.

wakr J Ctys*r'tizs,)rian Cx) = raolcs o! r,rcler f i",i" J anhydrcus soll
rrass of anhyCro,ls so,tl = rnqss o/ h#luleJ rall - mass d- wd+r -- 1.2%-0,s25 =6.?Qg

o.?t g anhydmus x lrarol ahgdrorts -3
= 2.1 X t0 mol angyJTous

2sB g anhgdrou

9 mol WotcA,. + X = o .o:rq 
f 7.4xro ?f o Chaice @)

clean pipels

conlaminilion

*'/AAA\.1.1 .V11AAA.oA
E

le,l
i, .-D, z'
(r)L *)r



Detailed ,A,nswers For TFae (Fircsl Exam) Of
(Experimental General Chemishy) { 1 06- 1 07- 1 08- 1 09}.

D;. 
"f 

E"r-, 15 / i / r0

C x idalion - R<dud'ro rtTilralion'

Gues*ion NJo.5 i
,^.r.\-^^-Al

t0'0 rrrL &tnle ol Heach u,as dil,rled Jo esO' mL '

2a+3.H++ CIO---> Cl- * HzO
ftzft+\ * 2{ z-( 2szos'- ' s',ot +ze
) - ae n 2- rf- S,,

25zOj-----" E'r Ue 
. + za 

- -
T,ls,o-* ,-----.- 2^f+ 3q o[' .'6)

u2O ""t'l' 11 +2s20" 2^f+ 3q c)5

co,',binJio,r ol (D and 6) + 2 H+ + c to- + z&Oi-+Cl-+ S'r o; + fiO '

Voiluldsoluhbn ---1o'ornl , Vsr6s*- - ?.SSmL lvts"orl? o.lop
yTtotes(srOi) = Mszo3'' x Us2g3'-= o.2oM X ?.ssr{x lL ,r- = l.5xli3r,',ol SeOst-

l.5xr63'nol SzOf-x -f ^"' 
t',';-= ?'s x r6'q rrut cl{' 

rwv+E

2mol SzOl -r* mota",\ cu:- = rnol cto /*i"*e (t-) = +'sro'f tu'crnr( rfu = o'.03?SMl'
M o;tuled.

Mconc.X Vcarr, - MOilulcd x Uoiluled + In conc'X lor7.L= O'o3?-SrV)X 1sornL

M conc. = Q.q3 ?t r.ol /t- .

'/" +
,1

O-93 mol X77's Snol rrcc: 'r, - 6,g'/,
tooo .L X l'l X lrr.L Choi ce@

.

AuTadro's Numberi

W
Auoydro'l nu*ber = h0 'd rr,6lewtt f no'dndes .--r t^- |

no.rlrno[es=ryssfmolarmass+vr'1olls=S'oxlo9/lz93Dtol-'
+ ,rulaS - I'E X 16 ' rrroles . - : i: -.- '-:-

fl0. of mara cure = Avogadrots no ' x no' J moles = 6'ox 
'i' ryyx l.x x 6L"{'

l? 
wl{'

No'd nTole.*l :t]["H'
. ;rea ofAe nnota c'*\e ra -(6'+ anqq ol one malecule = ?S.o / t.oyxlolr - ?.1 x{d'" choic( 'it

Lel's r.€,Lr'se ths full F{ocjr'ovrs

2{ --+ Te + li

"/, = Mxm.cr;*xloo
tooo x DenoitU



Betailed, Araswers For TFee (Fireal Exaw) Of
(Experimental General Chemistry) { 106- 107 -108- 109}.

Date of Exam: tsl1l20as. Page (( )

Nlolecerlar Weighl Of Volal-i)a Ligulds

Guetlion No'?!
a-.-^---

PV = r.nqss R.T =+ nrrolarrttqsE =E_BI =?v

lar rnqss = flass' B'r / Pv

ry?Olcr rnass

unll decrcoa..
Sfql€ menl u is ruorSu'TABLF , tiri'tt it rtt'*l becqusl'L| l*,-nessotetafy 15 higher

ala lhe- 
^q55 

ol acla.il vq.lw wi)) be h ry W qs lA"
Sqrne ayrrot^ryl Por em#y one,

i's S ailn ELE ) becattse y'As ,na.ss m Senerol 
'r5 hig,,*1 l].w nolq.r mo5s

wi),{ ^cr<a1L,
is NcrsulrRELE, becattse +lv,-a;florencz m oaluna *il ,Ar4- *)rc mass,

is \Jdf Sufi-ABLET becang dtMT is lor-r1 mtlar 
^oss 

unlJ dsuP-a*'

) rnalar rnass = lgO $ rnot I ()1ni ca $)
Guesfion No. E 3

r--^.-.+_---l

Re.memfur

S,laleme,rl a is Ncrf SU,1.,g Ete ,, *he pxssa n oL one alnosfteru ' nifiu th'on alernal
pr€Ssuro, I Eo *hc dQnominr,io" inc'@t*, ]he molar ttuss,

Slalemenl c

Sl.af"- e"F d

S'lrel*- r,tend (-

'Ther*o chamisl.q Z

ffir - 6.ss2 3. morqr rrrass = ll3 g*.la

Uol,.{-e oL HCI = ISOTnL }4olo'ihj HC) = o'lM'

Spedhc heal = 4.18 J.3-rj-r , densily : l' o 5 mL

Heol =tp = 17assof so)ulton X spea'bchsul x AT'

150 nnl HC{ X I oQ i P,c/ gl,}ittn 
= )50 g 3olJia,, HCl.

r , l'@ m'{-
btu"l mq55 _ o'SS2r+)soJ - lsO.SS2,

AT= +fl\"c
-t

?3? m'n1ls zoort
?6o YalnneS loar>

qffi

:i1J -l

con{inued ->



BetaiEed Arcsv)ers For The (Finul Exam) Of
(Experimental General Chemistry) { 106-1 07- 1 08-1 09}.

Date of Exam: 15ttl2a0s. Page (s)

Con{inue

Norr.r subsfLkng - mo-in rub-,

(rr*rr la*+/) = l5o.ss23 x 4.taT x 7.q2oc = 4'qz Kf
3'c"-'

lO2O Ki lmol X. becau1 l.- il& k-,'Fe-a/q,e Ls *crea<d

C\otce @ \ ?'12 4 erolw{ica o[- llza]' U,z)

)o.ss: S dx x
-3

= 4'tsxlo n"ol Ilt
lrn6l L

ll3 3)c

AH = 4.qB {T
4. tix Id3 rnol x

*) Exo lWnic
Fudhewratg gcx shouldnol .outnd q^j no. unlill yoq rerAch )hy\nql.4ns$0,r

Bu+ f t^-,tole*hrqnsurcrs onty lo sho,^r t\t carr<cl no. oL signiL'canLA\ures, So / do q-ll

calcutJions bgelh*- qnd Do Nor RoaND UNrrr-u Trle Flunl- AtVsur,reR.

-----*QuaUon r..Jo. E ;

AH= -2$ Kflnol

i\ LJ - - tss K.f iryrol.otr

25H = 285 KJl"',ol'

(D..- Mjrs) + 2 HCI colt --+ M5 Clt i-1t + Hz c5)

MgO151 1 2HC.i ra1) ---) Mg Ch 4il + HzO c,1

HzO c,) ---------------) rt.,gj f, O " 
,ey

aHp )rlgO -- 1?

Relrrqryav',,n^l ol e,bow equr!)ons leoJs l-o _/ -."
Equton (t) x-r,rairs thcsonz: M3 rs: + Z4ril^11 

-) 
w56c9t2.L*{<t) ' AH -- -LtT(Tr"t

Equalio'', Q) ''' **'!--, \U:r,^qt+UY,, ----) MgOrst + -fficog), oH,= tsst"J-''"or-i

Equalion3) is ^L{or6(d t .}+#;t+l Oz'(x) t1\otq t ar{rr-z:6kymor'

(t),(2)u(3) I Mg6)+ f o..j)lhr Suz J eqn.s ______+ M3 O *r
' j:;._ -:.:. .' 

-:.::;;:. r :,n..

AFl.rn =AHl+AHa+AHi,,,,--_..---'.
= -21f i,(?nralf*f Sf ffrrrf -'
+ - 2Al lG ,not'l

= '3t1( KTrnot'l

I Sqf 17f,''.ota

Ctvica p

,\t\A"Aq.a"t -: .VqqAAAr oA ./L-r-.i f:-_=,tl

:)lJ ct



Betailed Aruswers tor TFee (tirsst Ex*wt) Of
(Experirnental General Chemistry) { 1 06- lA7 -1 08- 1 09}.

Date of Exam: \s I t I 200s. Page (+)

Canhnuz;

ATr '- i<t \ rapgalere =) ATf = ??

Xuot+,olnn. = l'lruqphltolenc / h tuopl-,flroleru. + t1 Benu^(\n-

Np -- K+ Xxoph. =)

n Gon',,^t) -TP r*tn) =

= (o.x3 f nz.o gnoi)/fo'zsx fna'o emat-) + (aa'og l*z

= 0 .03028 '

11 = rna6s f wolctr maSS

o e^"r))

@
Since all gluhons gi,rwn are equal. Tbe sdn. ahie-h givras higher no. r/ qpeacs

usil) haw lfu- laryesl Van'* H4$ tada,,"?
a) Nr+,Ci b) A,*3 r 3rJof c) 2Als*, 3Soq-'

27s
Choi cz fi

Queslio, Mo' ts j
-l /L;-y-r^V. /y,*eos. 

_-). L' Xrncasq)^€d /X7",11,^1q*ed

X cot''^tarrr : L'r" ril,':;:kitr ,*,,i',;:1,)^frr.'ffi',*.r" o'-')l
,L'

X*o**d = n/rr = o.qsoc/6:..6oc- =6.1x,03'

L - 6.lxo3fg.qorto-3 : o.69 choice@'

Equ;hbr;.,rn and [+,f
Guesliot, No' 16:

CH3 co A3

A9r1 SClrJ

v',nolas d KSCN =

AT= 65.6 oc X O' o3o28 = t'q1 "C'

l-qq'C r+ S'S"C -Tsln. = 1.41"C j+ -l-sotn.53'S"C rhoio
@

a) 2f+, soqt- 4 ur.ok e!<c{,olyh

3

----= (HzCDo' * A3*

Ag *N ">r'';ic 4+'
vnota.il'( rscu) x Uol,i.r 

'165cu) - o 'oaap'x ts'24 rfu

= 6. l2 x lo'a-ol,

rcl



Detsiled Aruswers For Tlse (Fireal Exam) of(YI.^.:H.:lll 
9:ry.:1 chemistry) { 1 05_ r07 _1 08_ 1 0e}.

Date of Exam: rst1t200s. Page (r)

rnass ol X .,,a!.rial = ).0 3 t mola,r rhass -- 40 3 nola
rnas o[ HCt = So.6J , r.tS€ on lenper*ur+ =].0.C
4H : -+q,8 KJ lmoly , S.r',cih'c hed J solul,on = \.to rls.?
Flu* Capact*y 

=. JJ

rnoks of X= rnass J Y /^olor rnass of x = t.ag /logmol-l -- o,o2S ract X

ll is kno-" *ha,[

?9.? kf ts udwd -----------S I rnol X

1.). o'a.r< ool >(

emoqnl"lhealz*t*4t"._\of ! = l.Bt[KI. = l8?oKf
o.ais,r-l

dues}ton lvo. r33

Heal = (m4ss (srf,, 
^ 

y"riii, l.yal 4a1nr x bT) n (*"t rapct\ , A,
tr+oJ = (-oS + so'o3)x 4,t6 S/1.2 y ?,0"r) * c x 4.o t
l8?or = 1463'}-T + ?.0C

4o6.Ef, = ? C

C= sB f /"c. Chaiu fi

Coll;g$iva P rcperl'ies :

Q:.'3" ui,J
$afun^p,n*s ar bt Ct4 are all uturre*
Sa4enul €. b torrt6f; lfugrealer tlvemote- l.acli*, ,

ehoice B 77 h. puru*lvor-t is ansbqnl- tsa

mass ol CroHa ; /o'2s, as asolule (@) NlaphH.lar^e.

-crs I ce Fle : aoo .o ct s q solva,l,r

T "t pur.t- benzena = s,soc , Kf 
{-- :9lr:":;r"r",,

fk jrualer bTp valw , qnd b<ro-rx

Tp hr salxqon .il) be- lov,ar.

,,::.

,nohr rfl qss -- lZ8 ' O 3 ,nol'l .

molar rr1ass: ?E.Og mal^l

'fp sda. = 77

f:*\f I-'s

Confinue"l *
:.:tQl

,vAr\.^.(,-\,,jL . Vt 1AAA. oA t_rL_r:



Detailed Arcsiuers Fcr TFee (tirual Exam) Of
(Experimental Generai Chemistry) { 105- 107 -1 08-1 09}.

Date of Exam: t5t1t2005. Page (r )

Quesf,bt iVo. n3

Sl-qk,o1enl a rs tr,orrccl, becaw t'l* lormal-ion J Tu,nbll blrte ,ls qn',n'!;<"]-on lo'

*hcpregenee ol F"'\ Ksf<ccu), +Fe'* --* {[F;'fr'a$)
Slqlenne,"l b is in corr<cl, be caq* th ,l,nk pvecip'lole ohtc)14* fo"^ed ahen fh equilibrium

5u1lqlion of fu'oil Fe2**han *rtalcd urltj t'csctJ (aq,a,s)i 
fuSC/rl.

f*llemen|c is trlerrecl- 1 Tur,,gs,ll blue con,,lins bolA Fe'+and Fe3l

Srik^e,nl d ts Corrr-cl fu l,bs + Fetuu,,)r(fu)z € Fa3** A1 .-.(e<1 (ol) rqrl r (5\ 
'

s4.'bmenl e is 'ea6a*ec! t because rd {u.rtball brqe [s nof ctarbrue

__ _ _ ._,-hile 
tolor "ilh lir',e'

Cuerlion f.b. 2o 3

sr.lr.lion ,J goes lo

ffi*,"rrecL,thasalub',I,.l3,!ftJClint<a.g.soh*.tNH3*lJi*lba,)JeJ'
Agrl*-- As* + Ct-

A f + (run=S oH , fry t*tt1.) on

S&]syh..S 6 G incorret{t fhr-salxb,l.! "t hI ct h17T ca1) sdu{ian is ^r,ufhan AlCl6y'rn

KCI(qq) sal,^+/rn dae lo lhtfo, ^Jion / sfat.le 
';luLb 

PATi c".pt 
^

abith daes nolk'*'bn fuCl4 tas{ '

Jtkmu'rf c ts ' 

ea66vru.c l-, fhe :y)lubilb J fu Cl 
'st 

rn NHj6r1 sol'; icn is more lha" fu T 
'e 

;-

l.JH: oq: sol4$41. bacat$L fcfJ "* CnfJ arv- muth auallolblkan

W* a.n*,,,ndiys, n hI.:- *lv prtbla'l;+J ol rxn *o happer, is

tncmosed, at')ta dn ',til) ShF +o Utt^ }-Ct#- fo+ + ct-
't,'t ord.or h co^pe.r',*k to" tln'd'ecftqttot Ceil '^s'h-Jriii'

gale-enl A )s wCor*-cl- t \Cl doeslr)OT r<acl ui),\!Y(6 Ctlot) )oh,- 5!4$lp anion fuO',

. k I dogs Reacr /z " ftoq) 4 " /' '|z k1;'

,! mCorr{Ll, beca-s52 l}vsal"Lilt:\o/ fuC rs h *oler Lh rnarp-4lun of hSTrs)

look lo {sP val''ts'
zcd Lr,tk.

galer".pnle

:J1J ;l

, VA/\i\(..1,1- . V1 tAAA. oA +!+g^\;.1
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,
rn-oles KS.N = 6'12 x 16-- -ol = rnole Ag* ( auo'din1 t+'t chn*il g') 

'

and mO/esfvotu*t=rnolatlY' - ^ +

Mes* = 6't2xll'4^ot f r+'oxrf,3|- - o'036 M Hg '

Sincs moles fuo = mobs CH3Coi t

K.p = try-lfqcoi) = Q 036 r'{

@
Ksp = 2.3ox63 = fhf)fc4crr,-J = Ctu.l^ + tag.J =

since KscN + ego -------> fusa,+ K +

t i I ,o.l)o i So ua Lan sct1

Ms.rv x)olqnzscN- = M6*^Un9+

lS.oml K o.o32OM = O.OqZM x Uog* + \)Asr = lO'O mL choia p
#

6u€sl'Dn tJo. l7 3

Mt nenl o it cor*cf ,

:l-ale rnenl- b is corrtcl t

becaug- Ksp ualue deqerds on altaous spedc nol- ondrJ

becaug ff- "rt ,nue.ay.- fca3coi) ,ll+amornl ol CH:rroAs vr.r&sLs

accordinS lo LzCh6.*elirtS equiliiprincila-1v lie lmounl o[ salid

. p;eciplf olL't^creq*s ard solubil,4l detmoxs .

Sla.lemen| c is co.r-e.r], lo-ilo*r" ne4so n o,en+toh<d-i)a b bt he.na ,r=qtrlalli^g abo,^t

[ng*]
Slql-ernerrf d is correcl- t because thuodd;lion of HtUar uiil) lzod lo f'nt k lollotin1 rxn

c+zLoi -111+ - ctlrtooH ,''h;ct'''*|""'ts ' 
tui]-/ shilf rxn lo l8L1 '

*'io*o'"'J* ld-dpcrwszs ,.'d s-D& soluble'

Sdrevne.nle [s 'ttr'tcarreLf tt/ s -(
rnoles fuNos = -rlqifu ryNo: x'Udumi'Aj'^p='? -S'O;{to*'l..ra_lze] *-=-5'o {t6 -ol'

rnolcs CAI(coNJa = *olar)\cHjce&\Ualqmtcx3cooM = ts.or,oL xo'oS@ =2.75x,i'-,1
hl"l Ualume \s = s .o ,,nL + ts .o {iL -- 20 .a hL .

[nsNoJ : s'd ,ri'/zorLit' = e "ozt futcatl = 2.2sxrii,.ol /ronf = o.o llzf
tAg']fcn3cooJ = 6'o25xo'6r.r -2.grxrill*ro .r No pr<ctp#de isfo"*i,

so MAg+ -- l'/\cry{no

xo.036M :t'3xb3 Chotce E

= 6.o 47 M Ag+.

. r(

,'vl\H.\.;\ f\ . V1 tAAA. oA +!-; o-.-a! I


